
SAP ABAP table EMARM {Units of Measure}

EMARM

NUMTP [CHAR (2)]

MEABM [UNIT (3)]

VOLEH [UNIT (3)]

GEWEI [UNIT (3)]

MESUB [UNIT (3)]

MSEHI  [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 EMARM-GEWEI = T006-MSEHI 

0..N{0,1}  EMARM-MEABM = T006-MSEHI 
0..N

{0,1}  EMARM-MESUB = T006-MSEHI 0..N

0..N  EMARM-VOLEH = T006-MSEHI 
0..N

{0,1}
TCHW2

MANDT [CLNT (3)]

MSEHI  [UNIT (3)]

XUMKQ [CHAR (1)]

 EMARM-MSEHI = TCHW2-MSEHI 

0..N

{0,1}

TNTP

MANDT [CLNT (3)]

NUMTP [CHAR (2)]

 EMARM-NUMTP = TNTP-NUMTP 

0..N

{0,1}


